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public static void main(String[ ] args){
cartype carl = new cartype(7,16,21);
cartype car2 = new cartype(2,14,12);
double gal; int distance =200;
gal= carl.fuelneeded(distance);

System.out.printin(“for distance:”+distance+” miles
carl needs:”+gal+”gallons of fuel.”);

gal= car2.fuelneeded(distance);

System.out.printin(“for distance:”+distance+”miles
car2 needs:”+gal+”gallons of fuel.”);

} 1/ end main()
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class cartype{
int passengers;

int fuelcap; int mpg; int retvalue;
cartype(int p, int f, int m){
passengers = p; fuelcap =f; mpg = m;
} Il end constructor()
int rang() { retvalue = fuelcap*mpg;
return retvalue; } / end range()
double fuelneeded(int miles){
return (double) miles/mpg; } // end fuelneeded ()
} /Il end class cartype
sAail)
for distance:200 miles carl needs:9.52 gallons of fuel.
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double w,h;
void showDimo(){
System.out.println("width="+w+"height="+h);
}I end method showDimo()
}I end shape class
class triangle extends shape{
String style;
double area(){ double a; a=w*h/2;
return a;} // end method area()

void showStle(){ System.out.printin("The triangleis"'+style);
} /I end method showStle()

H/‘end of class triangle 41147013
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class prog54{
public static void main( String[ ] args){
"""""" triangte t1=new triangle(); s
triangle t2=new triangle();
tl.w=4.0; tl.h=4.0; tl.style= "isosceles";
t2.w=8.0; t2.h=12.0; t2.style= "Right angle";
System.out.printin("Tringle| info:");
tl.showStle();  tl.showDimo();
System.out.printin("Tringle| area = "+tl.area());
System.out.printin("Tringle2 info:");
t2.showStle();  t2.showDimo();
System.out.printin("Tringle2 area = "+t2.area());
HI end main() method
Hignd class prog54
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Tringle| info: :
| The triangle is isosceles
width=4.0height=4.0
‘Tringle! area = 8.0

Tringle2 info:

' The triangle is Right angle
'width=8.0height=12.0
 Tringle2 area = 48.0
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